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FOREWORD

This report presents Candidates’ Items Response Analysis (CIRA) on
Advanced Certificate of Secondary Education Examination (ACSEE)
conducted in May 2023. The report aims at providing feedback to education
stakeholders on the performance of candidates by identifying the strengths and
weaknesses shown by candidates in responding to the Agriculture examination
questions.

The general performance of candidates in this examination was good. The
topics and fields in which candidates had a good performance were
Introduction to Animal Health, Pasture Agronomy, Introduction to Weed
Science, Environmental and Technological Challenges in Agricultural
Development, Introduction to Soil Chemistry, Workshop Technology and Farm
Structures, Introduction to Animal Nutrition, Agricultural Production
Economics, Introduction to Soil Science, Crop Science and Production, Crop
Pests, Introduction to Agricultural Prices, Fundamental of International Trade
and Farm Planning.

The candidates performed averagely in the topics of Livestock Reproduction,
Breeding and Improvement, Plant Diseases, Farm Power, Plant Breeding and
the field of Soil Science. However, they had a weak performance in the topics
of Farm Mechanization and Machinery and Introduction to Irrigation.

The good performance is attributed to the candidates’ adequate knowledge of
the subject matter and practical skills. On the other hand, the weak performance
is attributed to the candidates’ inadequate knowledge of the subject matter and
lack of practical skills. Some of the candidates also failed to comprehend the
requirements of the questions.

The National Examinations Council of Tanzania (NECTA) expects that this
feedback will shed light on the challenges which education stakeholders should
address to improve the performance in Agriculture subject in future
examinations administered by the council.

The Council appreciates the contribution of all who prepared this report.

el

Dr Said Ally Mohamed
EXECUTIVE SECRETARY



1.0

INTRODUCTION

This report presents an analysis of candidates’ performance in ACSEE
2023 in Agriculture subject. The examination was set in accordance with
the 2019 Agriculture format, which is based on the 2019 Agriculture
Syllabus. The examination consisted of three papers: 134/1 Agriculture 1
and 134/2 Agriculture 2, being theory papers, and 134/3 Agriculture 3, a
practical paper. Agriculture 1 and 2 consisted of ten short answer
questions each. Each question carried 10 marks, making a total of 100
marks in each paper. Agriculture 3 consisted of two short answer
questions and one structured question. Question one carried 20 marks,
whereas the other two questions carried 15 marks each, making a total of
50 marks. Candidates were required to answer all questions in all
examination papers.

The analysis indicates that 784 candidates sat for the 2023 ACSEE in
Agriculture subject, of which, 783 (99.87%) passed and 1 (0.13%) failed,
implying that the performance of the candidates was good. Nonetheless,
the performance of candidates in 2023 decreased by 0.13 percent
compared to the 2022 results. Table 1 compares the performance of
candidates between 2022 and 2023 in ACSEE Agriculture subject by
grade.

Table 1: Comparison of Candidates’ Performance in ACSEE
between 2022 and 2023 by Grade

Grades % % Sat | With
Year | A | B C D E S | F | Pass | Fail held

2022 | 0 | 24 | 297 | 345 | 58 1|0 | 100 0 726 1

2023 | 0 | 17 | 289 | 370 | 105 | 2 | 1 |99.87 | 0.13 | 784 0

Source: NECTA Statistics Book, pg. 6 ACSEE, 2023

The performance of candidates is categorized into seven grades (A, B, C,
D, E, S and F). Each grade has a score interval and remarks as follows: A
(80-100) Excellent, B (70-79) Very good, C (60-69) good, D (50-59)
Average, E (40-49) Satisfactory, S (35-39) Subsidiary and F (0-34) Fail.

The next part of this report is organized into three sections: the analysis of
the candidates’ performance in each question, the analysis of the




2.0

2.1

candidates’ performance in each topic/field, and conclusion and
recommendations.

THE ANALYSIS OF THE CANDIDATES' PERFORMANCE IN
EACH QUESTION

This section presents an analysis of candidates’ performance in each
question. The analysis highlights the requirements of each question, the
general performance of candidates, their responses and possible reasons
for the responses. In addition, extracts are presented as samples of the
candidates’ correct and incorrect responses in the question. Graphics have
also been used to illustrate specific cases. In the analysis, the performance
is considered as weak, average or good if the percentage of the candidates
who scored an average of 35 and above ranges from 0-34, 35-59 and 60-
100, respectively. Correspondingly, green, yellow, and red colours denote
good, average, and weak performance, respectively.

THE ANALYSIS OF THE CANDIDATES' PERFORMANCE IN
134/1 AGRICULTURE 1

2.1.1 Question 1: Introduction to Soil Science

The question required the candidates to explain the five factors that cause
variation of soil during its formation. The question assessed the
candidates’ understanding of the concept of soil formation.

The question was attempted by 784 (100%) candidates, out of which 101
(12.88%) scored from 0.0 to 3.0 marks, 343 (43.75%) candidates scored
from 3.5 to 5.5 marks and 340 (43.37%) from 6.0 to 10 marks. Figure 1
indicates the candidates’ scores in the question.
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Figure 1: Distribution of the Candidates’ Scores in Question 1

Figure 1 illustrates that 87.12 per cent of the candidates scored from 3.5 to
10 marks and 12.88 per cent scored from 0.0 to 3.0 marks. Generally, the
performance in the question was good.

The data indicates that 43.37 per cent of the candidates had a good
performance. Most of these managed to explain factors that cause variation
of soil during its formation such as parent materials, climate, living
organisms, topography/relief and time. This indicates the candidates’ good
understanding of the factors for soil formation. Extract 1.1 shows the
sample of the correct responses from one of the candidates.
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Extract 1.1: 4 sample of the candidates’ correct responses in
question 1

In Extract 1.1, the candidate demonstrated a good understanding of the
concept of soil formation by providing correct responses to the whole
question.

Furthermore, 43.75 per cent of the candidates had an average performance.
These identified the factors that cause variation of soil during its formation
but failed to explain them. This implies that the candidates had partial
understanding of the factors.

On the other hand, 12.88 per cent of the candidates had a weak
performance. Most of these did not explain the factors that cause variation
of soil during its formation. Some of the candidates provided agronomic
practices of maintaining soil fertility such as crop rotation, manuring and
liming. Other candidates outlined the physical properties of soil such as soil
density, soil porosity, soil temperature and soil air. A few tried to explain
the process of weathering. The candidates’ responses signify their failure to
understand the requirement of the question. Extract 1.2 portrays a sample of
the incorrect responses from one of the candidates.
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Extract 1.2: 4 sample of the candidates’ incorrect responses in question
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In Extract 1.2, the candidate provided physical properties of soil instead of
the factors that cause variation of soil during its formation, hence failed to
meet the requirement of the question.

2.1.2 Question 2: Introduction to Soil Science

This question had parts: (a) and (b). The candidates were required to: (a)
distinguish the gravitational water from the field capacity and (b) argue for
the statement, “soil air is inevitable” for proper growth of plants. The
question examined candidates’ knowledge of soil water and soil air.

The question was attempted by 784 (100%) candidates, of which 235 (30%)
scored from 0.0 to 3.0 marks, 275 (35.08%) from 3.5 to 5.5 marks and 274
(34.92%) from 6.0 to 10 marks. Figure 2 presents the candidates’ scores in
the question.

Scores
m0.0-3.0

03.5-55
m6.0-10

35.08%

Figure 2: Distribution of the Candidates’ Scores in Question 2

In reference to Figure 2, the analysis shows that 70 per cent of the
candidates scored from 3.5 to 10 marks and 30 per cent from 0.0 to 3.0
marks, indicating a good performance.



Data analysis shows that 34.92 per cent of the candidates performed well
in the question. The majority correctly responded in both parts of the
question. In part (a), they correctly distinguished the gravitational water
from the field capacity such as gravitational water is the water that
enters into the soil and pass out through the soil by gravity while field
capacity is the percentage of water remained in the soil after
gravitational water have been removed. In part (b), they made correct
arguments for the statement, “soil air is inevitable for proper plant
growth.” Their responses were as follows; growth and development of
plants and its parts depends on the presence of air, microbial population
and activities depends on the presence of air, soil air (CO2) help to
dissolve nutrients from rocks and minerals and nitrogen of the soil air
can be fixed by symbiotic and non-symbiotic organisms and subsequently
utilised by higher plants. This is an indication that the candidates were
knowledgeable of soil water and soil air as physical properties of soil.
Extract 2.1 is a sample of the correct responses in the question.
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Extract 2.1: A4 sample of the candidates’ correct responses in question

In Extract 2.1, the candidate proved knowledgeable by providing correct
responses in both parts of the question.

Further analysis reveals that 35.08 per cent of the candidates performed
averagely. The majority of these managed to distinguish gravitational
water from field capacity in part (a). In part (b), they did not present all
points on the importance of air to the proper growth of plants.

Contrarily, 30 per cent of the candidates had a weak performance. These
provided the incorrect responses in both parts of the question. In part (a),
they failed to distinguish the gravitational water from the field capacity.
Examples of the incorrect responses from some of the candidates were;
gravitational water is the amount of water that are in the underground
caused by gravitational force in the roots while field capacity is the
amount of water that drop into the soil through soil pores, gravitational
water is the water formed from the ground while, field capacity is the
ability of soil to absorb plant nutrients, gravitational water is the
movement of water forcing from underground to the upper layer of the

11



soil while, field capacity is the available water held at point in the
atmosphere and gravitational water is the water that is found in the soil
used to support plant growth while field capacity is the amount of water
which is present in the soil solution. This demonstrates their lack of
knowledge of the subject matter.

Moreover, in part (b) the to understand the requirement of the question
hence instead of giving the importance of air, provided a variety of the
incorrect responses that were not related to the question. Such responses
provided were agronomic activities, physical properties, seasonal
variations, increase water holding capacity, presence of light, help to
dissociate water vapour to the plant roots. Extract 2.2 presents a sample
of the incorrect responses in the question.
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Extract 2.2: A sample of the candidates’ incorrect responses in

question 2

2.1.3

In Extract 2.2, the candidate failed to provide correct responses in all
parts of the question. He/she also conform with the action verbs used for
asking the question.

Question 3: Introduction to Soil Chemistry

The question had parts: (a) and (b). Candidates were required to: (a) give
four qualities of cowpea plant that make it a good cover crop and (b) (i)
briefly explain two short term advantages of the practice of burning the
vegetation and (i1) account for four the long-term disadvantages of the
practice of burning the vegetation. The question examined candidates’
knowledge of concepts related to cover crops and burning vegetations
during the land preparation.

The question was attempted by 784 (100%) candidates, whereas 32
(4.08%) scored from 0.0 to 3.0 marks, 195 (24.87%) scored from 3.5 to
5.5 marks and 557 (71.05%) scored from 6.0 to 10 marks. Figure 3
indicates the candidates’ scores in the question.

100 T
90 +
80 T 71.05
70
60 1
50 +
40 +
30 L 24.87
20 +

10 + 4.08
0 —— .

0.0- 3.0 3.5-5.5 6.0-10
Scores

Percentage of Candidates
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Figure 3: Distribution of the Candidates’ Scores in Question 3

As shown in Figure 3, 95.92, per cent of the candidates scored from 3.5
to 10 marks, while 4.08 per cent scored from 0.0 to 3.0 marks. The
general performance in the question was good.

Data analysis shows that 71.05 per cent of the candidates correctly
responded in almost all parts of the question. In part (a), they correctly
gave the qualities that make the cowpea plant a good cover crop such as
does not compete with other crop plants for nutrients, water, rooting
space and light, it grows well even in poor soil due to its ability to fix
nitrogen and grow even under low soil moisture condition. This indicates
the mastery of the concept of cover crops. In part (b) (i), they managed
to explain the short-term advantages of the practice of burning the
vegetation. The correct responses include ashes formed act as pH
regulator, ashes contains basic cations like calcium, magnesium and
potassium which become nutrients for crop grown, burning is a fast way
of clearing weeds and thick vegetation during land preparation.
Likewise, the candidates were able to account for the long-term
disadvantages of the practices of burning the vegetation in part (b) (ii).
Examples of the responses provided were burning destroys organic
matter, volatile nutrient elements like nitrogen, sulphur, phosphorus
stored in the soil are lost from the farm through evaporation, burning
kills most of the beneficial soil organisms, burning expose the soil to the
agents of soil erosion like running water and wind, and burning
contributes to deforestation. The correct responses provided by the
candidates indicate their good understanding of the positive and negative
effects of the practice. Extract 3.1 presents the correct responses from
one of the candidates.

14
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Extract 3.1: A sample of the candidates’ correct responses in
question 3

In Extract 3.1, the candidate correctly attempted both parts of the
question signifying the mastery of the subject matter.

Data analysis indicates that 24.87 per cent of the candidates performed
averagely in the question. Most of these managed to explain the short-
term advantages of the practice of burning the vegetation in part (b) (i).
However, they provided partially correct responses in part (a) and (b) (ii)
for the qualities of cowpea as a good cover crop and long-term
disadvantages of burning the vegetation respectively.

Nevertheless, 4.08 per cent of the candidates had a weak performance.
Most of them provided the incorrect responses in nearly all parts of the
question. In part (a), they failed to give qualities of cowpea as a good
cover crop. Some of them outlined general characteristics of cowpea as
plant but not as a cover crop for example, it has fibre roots, which make
them difficult to control, it has large leaves for efficient photosynthesis, it
has many root systems for proper absorption of water and minerals and
it has well developed roots and vascular system for efficient
transportation. Other candidates provided responses that were not
related to the question like improve soil structure, control disease and
increase soil pH. The responses given demonstrate the lack of the
subject matter knowledge and failure to meet the requirement of the
question.

In part (b) (i), the candidates were unable to explain the short-term
advantages of burning the vegetation. Contrarily, they provided a variety
of the incorrect responses such as, it increases organic matter, the
practice doesn’t disturb the soil structure, it increases microbial
activities and burning make soil acidic in nature. Likewise, in part (b)
(1), they failed to account for long term disadvantages of the practice of
burning the vegetation by providing incorrect responses such as cause
leaching, help to increase yield in the farm, maintain soil texture, leads
to the existence of resistant weeds, it rises the acidic medium of the soil.
The incorrect responses imply a low understanding of the candidates of
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positive and negative impacts of the practice of burning the vegetation.
Extract 3.2 exemplifies a sample of the incorrect responses in the
question.
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Extract 3.2: A sample of the candidates’ incorrect responses in

question 3

2.1.4

In Extract.3.2, the candidate provided the incorrect responses in nearly all
parts of the question except part (b) (ii) in response (ii) and (iii).

Question 4: Introduction to Soil Chemistry

The question required candidates to explain seven beneficial effects of
using the correct amount of lime in the management of acid soil and three
detrimental effects of excessive application of lime. The question tested
candidates’ understanding of the methods of correcting the soil reaction.

The question was attempted by 784 (100%) candidates, of which 76
(9.69%) scored from 0.0 to 3.0 marks, 351 (44.77%) scored from 3.5 to
5.5 marks and 357 (45.54%) scored from 6.0 to 9.5 marks. Figure 4
portrays the candidates’ scores in the question.

100 -
90
80
70 A
60
50 44.77 45.54
40
30 A
20

Percentage of Candidates

9.69
10 -
o, [
0.0-3.0 35-55 6.0-95
Scores

Figure 4: Distribution of the Candidates’ Scores in Question 4.

In view of Figure 4, 90.31 per cent of the candidates scored from 3.5 to
9.5 marks and 9.69 per cent scored from 0.0 to 3.0 marks. The
performance of the candidates was generally good.
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Candidates who performed well in the question were 45.54 per cent.
Most of them correctly explained the beneficial effects of using the
correct amount of lime in the management of acid soil such as; it
supplies calcium and /or magnesium as important nutrient elements for
plant growth, it improve physical properties of soil, increase phosphorus
and molybdenum availability in acid soil, it enhance microbial activities,
it prevents the accumulation of iron, aluminium and manganese to toxic
level, it increase plant density and water infiltration in the soil, and it
reduce stem and root lodging. They also provided correct detrimental
effects of excessive application of lime such as it decreases uptake of
nutrients such as iron, manganese and zinc, it decrease phosphate
availability and it is harmful to plant tissues as a result of sudden change
in the reaction of the soil. These responses given by the candidates
signify a good understanding of the methods of correcting soil reactions.
Extract 4.1 presents a sample of the correct responses in the question.
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Extract 4.1: A sample of the candidates’ correct responses in question 4

In Extract 4.1, the candidate provided the correct responses to almost the
whole question except in the detrimental effects of excessive application
of lime where in response (iii) he/she provided partial explanations.

Data show that, 44.77 per cent of the candidates performed averagely in
the question. Most of them provided partially correct responses in
explaining the beneficial effects of using the correct amount of lime and
detrimental effects of excessive application of lime.

However, 9.59 per cent of the candidates had a weak performance. Most
of them failed to explain the beneficial effects of using the correct
amount of lime in the acid soils. Most of their responses given such as
reduce hunger, improve standard of the soil, ensure palatability of
forage and pastures, increase the income and it help to reduce cost of
production were not related to the question asked.
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Likewise, the candidates provided a variety of the incorrect responses for
detrimental effects of over liming such as it can cause leaching in the
soil, it helps to encourage the nutrient of the soil, it helps to neutralise
the acidity of the soil, it controls soil erosion, may lead to temperature
change of the crop and reduce workability of the soil. This signifies lack
of the subject matter knowledge. Extract 4.2 indicates a sample of the
incorrect responses from one of the candidates.
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Extract 4.2: A sample of the candidates’ incorrect responses in
question 4

In Extract 4.2, the candidate provided the incorrect responses to the
question. He/she focused on the general conditions for the plant growth,
signifying an inadequate knowledge of the subject matter.

2.1.5 Question 5: Farm Power

The question consisted of parts: (a) and (b). Candidates were required to:
(a) give six conditions in which the use of the tractor will be more
successful than the animal power and (b) give four points on how the
ignition system of the tractor engine can be maintained. The question
tested candidates’ understanding of the engine systems and sources of
farm power.

The question was attempted by 784 (100%) candidates, where 329
(41.96%) scored from 0.0 to 3.0 marks, 227 (28.95%) scored from 3.5 to
5.5 marks and 228 (29.09%) scored from 6.0 to 10 marks. Figure 5
summarizes the candidates’ scores in the question.
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Figure 5: Distribution of the Candidates’ Scores in Question 5

As shown in Figure 5, data analysis exhibits that 58.04 per cent of the
candidates scored from 3.5 to 10 marks where 41.96 percent from 0.0 to
3.0 marks. The candidates’ performance in the question was average.

Candidates who had a good performance in the question were 29.09
percent. Most of them correctly attempted both parts of the question. In
part (a), they correctly gave conditions in which the use of the tractor is
more successful than the animal power such as; the farm must be large
with plenty of work to be done throughout the year, there should be
enough capital to buy and operate the tractor, there must be skilled
people to operate, repair and maintain the tractor, spares and services
must be available at reasonable price, the return from the farm should
justify the cost of running the tractor and the land must be flat for the
tractor to work better. Moreover, they correctly provided the maintenance
of the ignition system of the tractor engine in part (b), such as, the carbon
deposit on the spark plug electrodes should be removed, spark plugs
whose electrodes are worn out should be replaced. The responses
provided demonstrate the possession of adequate knowledge of the
conditions for the successful use of the tractor and the tractor ignition
system. Extract 5.1 presents a sample of the correct responses in the
question.
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Extract 5.1: 4 sample of the candidates’ correct responses in question
5

In Extract 5.1, the candidate showed the mastery of the subject matter by
providing the correct responses in both parts of the question.

Further data analysis denotes that 28.95 per cent of the candidates
performed averagely. Most of these correctly gave the maintenance of
the ignition system in part (b). In part (a), the candidates differentiated
the tractor power from the animal power instead of presenting the
conditions for the successful use of the tractor power over the animal
power. This indicates the failure to meet the requirements of the
question.

On the other hand, candidates who had a weak performance constituted

41.96 per cent of the candidates. Most of them responded incorrectly in

nearly all parts of the question. In part (a), they failed to give conditions
28



for the successful use of the tractor over the animal power. Most of them
provided the differences between the use of the tractor and the animal as
sources of power for doing farm operations. Examples of the responses
are, tractor save time while animal power use limited time, tractor do not
depend on health and age while animals depends on health and age,
tractor is faster than animal, tractor save cost than animal and tractor
does not require a lot of energy. Similarly, in part (b), they were unable
to give the maintenance of the ignition system of the tractor engine.
Some of them provided preliminary inspections before starting the
tractor. Such responses were check the level of fuel, grease or oil the
moving parts, ensure the valves are smoothly working, check the tyre
pressure and check the battery terminals if they are tight. Other
candidates provided the maintenance of other engine systems like fen
belt must be intact and radiator is full of water which are for the cooling
system. Examples of the provided maintenance of the fuel system were,
the fuel path is not clogged, the tank is not damaged and fuel filter is
working properly. All responses given imply that the candidates failed to
meet the requirement of the question. Extract 5.2 illustrates a sample of
the incorrect responses in the question.
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Extract 5.2: A sample of the candidates’ incorrect responses in question

In Extract 5.2, the candidate incorrectly responded in both parts of the
question. In part (a), he/she tried to compare the tractor and the animal
power contrary to the demand of the question. Likewise, in part (b), the
candidate provided the inspections needed before starting the tractor
instead of the maintenance of the ignition system of the engine.

2.1.6 Question 6: Farm Structures and Workshop Technology

The question consisted of parts: (a) and (b). Candidates were required to:
(a) propose five factors to be considered to construct an efficient, durable
and low-cost electric wire fence to control the movement of farm animals
and (b) propose five maintenance requirements of planes as a workshop
tool. The question tested candidates’ knowledge of the farm fences and
workshop tools.

The question was attempted by 784 (100%) candidates, out of which 75
(9.57 %) scored from 0.0 to 3.0 marks, 380 (48.47 %) scored from 3.5 to
5.5 marks and 329 (41.96%) scored from 6.0 to 10 marks. Figure 6 shows
the candidates’ scores in the question.
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Figure 6: Distribution of the Candidates’ Scores in Question 6

Figure 6 indicates that 90.43 per cent of the candidates scored from 3.5 to
10 marks, whereas 9.57 per cent scored from 0.0 to 3.0 marks. The
general performance in the question was good.

It was noted in the analysis that 41.96 per cent of the candidates
performed well; with most of them providing the correct responses in
both parts of the question. In part (a), they managed to propose factors to
be considered to construct an efficient, durable and low-cost electrical
wire fence to control the movement of farm animals. Examples of the
correct responses were; follow an appropriate design for fencing as per
different type of farm animals, it must be installed properly with no
shorts, use high tension wire, do not use poor quality or small insulators,
avoid mixing galvanised materials with others, use bolts, galvanised nuts
or joint clamps to bolt all wire connectors together, the pulse in wire
should be maintained all the time, ensure that earthing is properly done
to avoid shorts and use thinner post and wire which are easily electrified
and less expensive. This proves that the candidates were knowledgeable
of the factors to be considered in the construction of the electric wire
fence. In part (b), they correctly proposed the maintenance of planes such
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as; adjustments to plane must be properly be done before using it,
lubricate the sole of metal plane with candle wax to promote easy
working, dress wooden planes with linseed, keep them on their sides, oil
the metal planes to prevent rust, check for damage including cracks then
repair, replace or re-sharpen accordingly, keep it clean, retracting the
iron and storing your plane. This signifies a good understanding of planes
as workshop tools. Extract 6.1 is an example of the correct responses in
the question.
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question 6

In Extract 6.1, the candidate demonstrated the mastery of the subject
matter as he/she provided the correct responses in both parts of the

Extract 6.1: A4 sample of the candidates’ correct responses in

question.

Further analysis showed that, 48.47 per cent of the candidates had an
average performance. Their responses in both parts of the question

indicates a partial understanding of the subject matter.

On the other hand, 9.57 per cent of the candidates did poorly in the
question. Most of them incorrectly responded in both parts. In part (a),
they failed to propose factors to be considered in the construction of the
electrical wire fence. Most their responses focused on the qualities of a
good fence, for example, must be durable, should have low cost,
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efficient, size of the fence should be equal to the number of animals
present and secured. This demonstrates that the candidates had
misconceptions of the concept. In part (b), they were also unable to
propose the maintenance of the planes. They did not meet the
requirement of the question. Some of them mentioned the personal protective
measures against injuries in the workshop while others mentioned the storage
of the workshop tools. Examples of such incorrect responses include fools
should be maintained to avoid rain, tools should be maintained to avoid light,
do not talk to anyone when using the tool because may cause injury, during
working wear protective gears, tools should be maintained to control theft and
do not oil the plane to reduce contamination of oil with teeth of plane. This
indicates that the candidates were unfamiliar with the planes and lacked
exposure to practical work in the workshop. Extract 6.2 illustrates a sample
of the incorrect responses in the question.

36



(bo) Z”(,y sthonlo bho plews 1t eprrmU- ﬁlzwu

b mesn, # M@L ﬂ&u mn fﬁrwmu} MJY?M |

GD ﬁ-ﬁ\/ diowld Lo weed in gLt 1‘01;

(L'H;u_aum Hod wlen jor bl o 244t pmonk

et treeof MM hgu b!: oo 04 m,qm/am%
e#mw(- ;

[7)&141 muwt be ke biw twing HG bpott ov
Lot pewind Bloy  fodde flaner

=) ﬂué ‘norele. )Lor/,rwwnl- 7?7/W7“U HWF qDDeﬂ«red’

‘nﬂljo&h o&mn.. _@Wbﬂm‘

W)Amﬁ' qn/ﬁ/‘twna ot] eq f@ J'wfmu of ﬂqu

(/voﬁ' "Ozm,ﬁ'mwf) [l ¢ rfguind ! 46 eﬂmw

: o’f' -P/emlﬂwmf: & rnorder i" mm‘ﬁm A‘Lmuld '-€°1un€¢p

(~o amw/of raww@ru"' -m’lflmnq OE- ol oa )LC

7Lo-u e 1%)0(1 Llee ﬁgm

/V) Do nop” et 11 J'qu/prw; @y ‘wmﬁf-glﬁngm
o Trondir

O UF (loold Lt clend apt bafee andagpe

ter of Qemtpmzruf-cr feods Zf@ ’dhmﬂnolﬂf&q

37




¢l fF’CUJtéﬂJi\q

‘Qﬂ?muﬁl\ Cc’nn)cﬂl"fnuLg MN‘JIA’ZI/UQA M@/{%'aé

e ﬁ&mmﬁmﬁ.m.. F #nw

Gy ﬂ/mm /)lw

0 nuu wom ho 16 J(on Qe ,}& CDnWM /8

Lenit g ndFE new QIJ—AYAOM éu} in //—éaztmw

ﬁ‘/f" [ewned t}o&g@

\,()\/ '\U‘W o‘fﬁCOn.HCg;\/hq MAMO%J%

M’Qj ftmml\n_u/b:

6‘? .Lfk(l O/l’ bM’rQ&(’

NI hmw.ﬁbl(o*r d’ﬁx’r regued].

T conchud L&Ukw

V> gﬁﬁrwmcﬁ eﬁ ”ﬁ Ltcm«-&

\
A}

Extract 6.2: A4 sample of the candidates’ incorrect responses in question

In Extract 6.2, the candidate failed to score in all parts of the question,
indicating an inadequate knowledge of the subject matter.

2.1.7 Question 7: Introduction to Irrigation and Farm Mechanization
and Machinery

The question comprised parts: (a) and (b). Candidates were required to:
(a) elaborate the four necessary adjustments to be done on the tractor
mounted mouldboard plough because of not creating suitable tilth
during the cultivation and (b) justify the statement that the “drip
irrigation system is said to minimise certain crop diseases outbreak and
weed growth than the sprinkler irrigation system”. The question
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examined candidates’ understanding of the methods of irrigation and
farm implements.

The question was attempted by 784 (100%) candidates, of which 565
(72.02%) scored from 0.0 to 3.0 marks, 188 (23.98%) scored from 3.5
to 5.5 marks and 31 (4%) scored from 6.0 to 8.5 marks. Figure 7
summarizes the candidates’ scores in the question.

100 —+
90 +
80 T 72.07
70 T+
60 +
50 +
40 +
30 +
20 +
10 +

O m

23.98

Percentage of Candidates

0.0-3.0 35-55 6.0-8.5
Scores

Figure 7: Distributions of the Candidates Scores in Question 7

Figure 7 indicates that 72.05 per cent of the candidates scored from 0 to
3 marks and 27.98 per cent scored from 3.5 to 8.5 marks. The general
performance in the question was weak.

Data analysis shows that 72.02 per cent of the candidates did poorly in
the question. Most of them provided the incorrect responses in almost all
parts of the question. In part (a), they failed to elaborate the adjustments
to be done on the tractor mounted mouldboard plough. Some of the
responses provided were the role of the plough such as breaking and
loosening the soil, burry vegetation, improve aeration and drainage and
control soil borne disease. Other incorrect responses provided were the

39



conditions that favour the plough to work properly like light soil, short
vegetation, and absence of obstacles. In some cases, the candidates
provided different incorrect responses for example the mouldboard
should be adjusted for efficient work output, consider nature of the soil,
consider the topography of the area, consider the climate, apply
tightening bolts and nuts and cleaning the land first before working.

Furthermore, in part (b), they failed to justify the statement given. Most
of their responses focused on how the drip irrigation and sprinkler
irrigation work instead of justifying that the drip irrigation minimizes the
outbreak of diseases and the weed growth than the sprinkler irrigation.
These responses show that some candidate did not understand the
requirement of the question and had a low understanding of the subject
matter. Extract 7.1 indicates a sample of the incorrect responses in the
question.
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Extract 7.1: A sample of the candidates’ incorrect responses in
question 7
In Extract 7.1, the candidate incorrectly attempted both parts of the
question by giving responses that do not meet the requirement of the
question.

Candidates who attained an average performance were 23.98 per cent.
Most of these correctly justified that the drip irrigation minimizes the
outbreak diseases and weeds growth than the sprinkler irrigation in part
(b). In part (a), they were unable to elaborate the adjustments needed in
the mouldboard plough so that it works properly. They named the parts
of the plough as the ones that needed adjustments. For example, the
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adjustment of the mouldboard, beam, landside, share and skim coulter.
This indicates that they were unfamiliar with the adjustments needed on
the mouldboard plough.

However, 4 per cent of the candidates provided the correct responses in
almost all parts of the question. In part (a), they well elaborated the
adjustments to be done on the tractor mounted mouldboard plough. Such
correct responses include, adjustment of ploughing depth, adjustment of
front furrow depth, lowering/raising ploughing pitch and adjustment of
front furrow width. In part (b), they correctly justified the statement that
the “drip irrigation system is said to minimize certain crop diseases
outbreak and weed growth than the sprinkler irrigation”. The correct
responses given were, drip irrigation involve application of water in
small droplets within the plants, therefore it minimizes outbreak of crop
diseases such as blight, coffee berry disease etc as water is applied to
the root zone hence it does not come into contact with plant leaves. In
addition, it minimizes weed growth as little water get in between crop
rows. However, sprinkler irrigation is the application of water to the
crops in form of small droplet like rain direct onto the leaves. This
encourage outbreak of certain crop diseases. Also, because water get in
between crop rows, it encourages flourishment of weeds. The responses
given by the candidates in both parts signify a good understanding of the
adjustments needed on the mouldboard plough and the working of the
stated irrigation method. Extract 7.2 presents an example of the correct
responses from one of the candidates.
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Extract 7.2: A sample of the candidates’ correct responses in question 7
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2.1.8

In Extract 7.2, the candidate attempted both parts of the question correctly,
showing the possession of adequate knowledge of the subject matter.

Question 8: Agricultural Production Economics

The question had parts: (a) and (b). Candidates were required to: (a)
summarize the seven roles of an entrepreneur as a farm manager and (b)
elaborate three types of the labour used in the production process. The
question tested candidates’ understanding of the role of the farm manager
and types of labour in the production process.

The question was attempted by 784 (100%) candidates, where by 123
(15.69%) scored from 0.0 to 3.0 marks, 283 (36.10%) scored from 3.5 to
5.5 marks and 378 (48.21%) scored from 6.0 to 10 marks. Figure 8
illustrates the candidates’ scores in the question.

Scores
m0.0-3.0

03.5-55
m6.0-10

Figure 8: Distribution of the Candidates’ Scores in Question 8
As shown in Figure 8, 84.31 per cent of the candidates scored from 3.5 to

10 marks, whereas 15.69 per cent scored from 0.0 to 3.0 marks, showing a
good performance in the question.
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Data analysis indicates that 48.21 per cent of the candidates provided the
correct responses in almost all parts of the question. In part (a), they
correctly summarize the role of the farm manager as an entrepreneur. The
roles include; make short term plans which involve making quick decisions,
make long term plans which involve making decisions relating to future
operations on a farm, gather and analyse information on farm enterprises,
detect constrains and weakness in the farm and find appropriate solutions,
keep farm records and accounts, bear the responsibility for plans and
decisions made in the farm, implement the farm management decisions and
plans, hire the other factors of production, organize and manage the land,
labour and capital so as to produce good s and services. Likewise, in part
(b), they correctly elaborated the types of labour used in the production
process. Examples of the correct responses include family labour- is labour
which is provided by the members of the family, casual labour — labour
hired to supplement family labour and, permanent labour- labour hired on
monthly bases. The responses indicate that the candidates were conversant
with the subject matter. Extract 8.1 portrays a sample of the correct
responses in the question.
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Extract 8.1: A4 sample of the candidates’ correct responses in

question 8

In Extract 8.1, the candidate gave the correct responses in all parts of the
question. This indicates the possession of adequate knowledge of the
subject matter.
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Candidates who performed averagely in the question were 36.10 per cent.
The analysis of their responses shows that they did well in part (b) on the
types of labour used in the production process. In part (a), they did not
provide all points required for the role of the farm manager. Rather, they
summarized the three main role of the farm manager, namely planning,
organizing and implementing. This suggests that they had partial
understanding of the role of the farm manager.

On the other hand, 48.21 per cent of the candidates had a weak performance
in the question. Most of them incorrectly attempted both parts of the
question. In part (a), these failed to summarize the role of the farm
manager. They provided the marketing functions such as storage of
agricultural goods, processing, merchandising, buying goods and
transportation of goods instead of the role of the farm manager. In this
case, the candidates failed to understand the requirements of the question.
Furthermore, some provided a variety of the incorrect responses such as
provide employment to the people, provide foreign currency, reduce
poverty and encourage growth of city and towns thus indicating possession
of inadequate knowledge of the subject matter.

Similarly, in part (b), the candidates were unable to elaborate the types of
labour used in the production process. The candidates provided a variety of
the incorrect responses such as forced labour, immigrant labour, low
labour, moderate labour, high labour, fixed labour, variable labour and
worked labour. Others mentioned the factors of production such as capital,
land and entrepreneurship. This signifies that the candidates had a low
understanding of the types of labour used in the production process. Extract
8.2 is an example of the incorrect responses from one of the candidates.
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Extract 8.2: 4 sample of the candidates’ incorrect responses in

question 8

In Extract 8.2, the responses provided by the candidates indicate the
possession of an inadequate knowledge of the subject matter. He/she
responded incorrectly in all parts of the question.
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2.1.9 Question 9: Introduction to Agricultural Prices

This question consisted of parts: (a) and (b). Candidates were required to:
(a) account for eight situations in the market indicating the existence of
the perfect competition and (b) state two conditions that favour the
development of the black market. The question assessed candidates’
knowledge of the types of agricultural markets.

The question was attempted by 784 (100%) candidates, of which 277
(35.33%) scored from 0.0 to 3.0 marks, 221 (28.19%) scored from 3.5 to
5.5 marks and 286 (36.48%) scored from 6.0 to 10 marks. Figure 9 shows
the candidates’ scores in the question.

Scores
m0.0-3.0
03.5-5.5
m6.0-10

28.19%

Figure 9: Distribution of the Candidates’ Scores in Question 9

Figure 9 shows that 64.67, per cent of the candidates scored from 3.5 to
10 marks, whereas 35.33 per cent scored from 0.0 to 3.0 marks.
Generally, the performance of the candidates in the question was good.
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The analysis shows that 36.48 per cent of the candidates had a good
performance in the question. In part (a), most of them managed to account
for the situations in the market indicating the existence of the perfect
competition.

They provided the correct responses such as presence of many sellers and
buyers of particular products, the sellers and buyers sell or buy a similar
product which is not differentiated, all sellers and buyers have equal
knowledge of market conditions as regards supply, demand, price, and
other factors, no one seller or buyer can influence the market price of the
product on the market, each seller makes only a very few profit due to
strong competition among sellers, there is freedom of entry and exit into
the business so that the buyer or sellers may enter or leave the market at
will and the force of supply and demand determine the price of product
sold under perfect competition.

In part (b), the candidates correctly stated the conditions that favour the
development of the black market. They provided responses such as,
scarcity of the product in question, price control by the government,
rationing or hoarding of the product. The responses indicate a good
understanding of the types of agricultural markets. Extract 9.1 presents a
sample of the correct responses in the question.
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Extract 9.1: 4 sample of the candidates’ correct responses in
question 9

In Extract 9.1, the candidate provided the correct responses in both parts
of the question. This indicates the mastery of the subject matter.

Moreover, the analysis indicates that 28.19 percent of the candidates have
performed averagely. In part (a), most of them failed to exhaust all the
points demanded by the question. Likewise, in part (b) they provided
partially correct responses on the conditions that favour the development
of the black market. Their responses show partial understanding of
agricultural markets.

However, 36.48 per cent of the candidates did poorly in the question. The
majority were unable to account for situations in the market, which
indicate the existence of the perfect competition in part (a). They
provided the types of marketing middlemen contrary to the demand of the
question. Examples of such responses are wholesalers, retailers, jobbers,
brokers, commission agent, authorities and cooperatives. Some
candidates provided the classification of markets for agricultural products
such as oligopoly, monopsony, monopoly and black market. These
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responses signify the lack of understanding of the question requirements.
Others provided a variety of the incorrect responses such as high initial
cost of product production, type of soil where the product is produced,
kind of the fertilizer used, the climatic condition of the area, less or no
toxic on the products and the quantity of the product produced showing
the lack of knowledge on agricultural markets.

In part (b), the candidates failed to state the conditions that favour the
development of the black market. Some provided the methods of reducing
risks and uncertainties in the agricultural production such as insurance,
use of subsidies, use of buffer stock funds, diversification, and use of
international commodity agreement. The candidates’ responses show a
low understanding of the subject matter. In addition, they provided
different incorrect responses such as poor government regulations, poor
labelling and grading of products, free price of commodities. The
responses exemplify a low understanding of the black market. Extract 9.2
presents a sample of the incorrect responses in the question.
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Extract 9.2: A sample of the candidates’ incorrect responses in

question 9

In Extract 9.2, the candidate provided the incorrect responses in all parts
of the question. This demonstrates that he/she lacked knowledge of the

subject matter.

2.1.10 Question 10: Farm Planning and Fundamentals of International

The question comprised parts: (a) and (b). Candidates were required to:
(a) explain the four negative effects of the government’s involvement in
controlling the price of agricultural commodities and (b) explain the four
measures to be taken in case a country trading with another country faces
a problem of a prolonged deficit in the balance of payments. The
question tested candidates’ knowledge of concepts related to price

Trade

stabilization and international trade.

The question was attempted by 784 (100%) candidates, of which 289
(36.86%) scored from 0.0 to 3.0 marks, 246 (31.38%) scored from 3.5 to
5.5 marks and 249 (31.76%) scored from 6.0 to 10 marks. Figure 10

depicts the candidates’ scores in the question.
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Figure 10: Distribution of the Candidates’ Scores in Question

In Figure 10, the analysis shows that 63.14 per cent of the candidates
scored from 3.5 to 10 marks, whereas 36.86 scored from 0.0 to 3.0
marks. The general performance in the question was good.

Candidates who performed well in the question were 31.76. Most of
them managed to explain the negative effects of the government’s
involvement in controlling the price of agricultural commodities in part
(a). Examples of responses given were; may be bad to consumers
especially if price of goods tend to rise while wages remain at the same
level, if the fixed price for a certain commodity is lower than the
equilibrium price of the commodity, price control may encourage
development of black market, where input prices are controlled and set
at a high level they may lead to high production cost, controlled prices
may lead to wastage and dumping of agricultural commodities.

In part (b), they were able to explain measures to be taken in case one
country trading with another country faces a problem of a prolonged
deficit in the balance of payments. Examples of the correct responses

provided were devaluation of local currency, introduction of floating
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exchange rate, review of country’s fiscal policies such as taxation and
subsidies, and total ban on some imports and introduction of strict
foreign exchange regulations. This is a justification that the candidates
had sufficient knowledge of the price control and the balance of
payments. Extract 10.1 is an example of responses from candidates who
did well in the question.
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Extract 10.1: 4 sample of the candidates’ correct responses in
question 10

In Extract 10.1, the candidate demonstrated a good understanding of the
concept of price stabilization and balance of payments.

Moreover, candidates who had an average performance constituted 31.38
per cent. These candidates managed to explain the negative effects of the
price control by the government in part (a). In part (b), most of them
provided measures for controlling normal deficit in the balance of
payments. Some of their answers were, borrowing from abroad and
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financial institutions, withdrawal from foreign reserves, selling
investment abroad and asking debtors to pay back loan instead of the
measures for prolonged deficit in the balance of payments. The
candidates appear to have misunderstood the question.

Conversely, 31.76 per cent of the candidates had a weak performance. In
part (a), most of them failed to explain the negative effects of the
government’s involvement in controlling the price of agricultural
commodities. The candidates provided different incorrect responses such
as it reduces the diversification in production, it reduces amount of
subsidies, increase price fluctuation, it causes decline of international
trade, occurrence of risks and uncertainties, it consumes time, and it
lowers the price of agricultural commodities. These responses prove the
fact that, they lacked knowledge of the effects of the price stabilization.

Likewise, in part (b) they provided the incorrect responses for measures
to be taken in case one country trading with other country faces problem
of prolonged deficit in the balance of payments. Examples of such
incorrect responses include devaluation of agricultural prices, control of
price fluctuation, increase of foreign loans, increasing production and
controlling price by the government. Such responses indicate the lack of
knowledge of balance of payments. Extract 10.2 portrays a sample of the
incorrect responses from a candidate who had a weak performance in the
question.
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Extract 10.2: 4 sample of the candidates’ incorrect responses in question

In Extract 10.2, the candidate responded incorrectly in both parts. For
example, in part (b) he/she provided methods of price control instead of
measures for correcting prolonged deficit in the balance of payments.

THE ANALYSIS OF THE CANDIDATES’ PERFORMANCE IN
134/2 AGRICULTURE 2

Question 1: Plant Diseases

The question required candidates to analyse five ways of controlling the
plant diseases. The question tested candidates’ understanding of the plant
diseases control.

The question was attempted by 784 (100%) candidates, whereas 332
(42.35%) scored from 0.0 to 3.0 marks, 195 (24.87%) scored from 3.5 to
5.5 marks and 257 (32.78%) scored from 6.0 to 10 marks. Figure 11
depicts the candidates’ scores in the question.
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Figure 11: Distribution of the Candidates’ Scores in Question 1

As shown in Figure 11, the analysis indicates that 57.65 per cent of the
candidates scored from 3.5 to 10 marks and 42.35 per cent scored from
0.0 to 3.0 marks. The performance in the question was average.

Candidates who had a good performance in the question were 32.78 per
cent. The majority of the candidates managed to analyse the ways of
controlling the diseases. They provided the correct responses such as use
of disease resistance varieties, maintain field hygiene, use crop rotation,
soil balancing, keeping plant healthy, use of fungicides, early planting,
selecting time of planting and choosing the right plant for the site. These
responses demonstrate the possession of adequate knowledge of the ways
of controlling plant diseases. Extract 11.1 presents a sample of the correct
responses in the question.
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Extract 11.1: 4 sample of the candidates’ correct responses in

question 1

In Extract 11.1, the candidate showed a good understanding of the
preventive measures of the plant diseases.
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Moreover, candidates who attained an average performance were 24.87
per cent. These mentioned points without explaining them in detail.
Others failed to exhaust all points required by the question. The avarage
performance in the question is attributed to an inadequate knowledge and
skills in the ways of controlling the plant diseases.

Conversily, candidates who had a weak performance were 42.35 per cent.
Most of these failed to analyse the ways of controlling the plant diseases.
They r provided general methods of controlling plant disease such as
chemical, mechanical, cultural and biological control methods. Some of
them focused their responses on the livestock diseases instead of the plant
diseases such as introducing vaccine to the sick animal so that it can
regain, slaughtering the affected animals so that the disease cannot
spread, providing drugs to the sick animals so as to reduce the sickness,
isolating sick animals from the healthy animals to reduce contaminating
other animals, use of prophylactic measures to control the disease. The
candidates’ responses indicate the lack of knowledge of preventing the
plant diseases. Extract 11.2 presents the incorrect responses in the
question.
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Extract 11.2: A sample of the candidates’ incorrect responses in question

In Extract 11.2, the candidate incorrectly provided the principles of
controlling plant diseases instead of the ways.

Question 2: Plant Diseases

Candidates were required to account for blossom end rot diseases in
tomato using the following guidelines: (a) cause of the disease (b) major
symptoms of the diseases and (c) control measures of the diseases. The
question tested candidates’ knowledge and skills in plant diseases.

The question was attempted by 784 (100%) candidates, of which 319
(40.69%) scored from 0.0 to 3.0 marks, 301 (38.39%) scored from 3.5 to
5.5 marks and 164 (20.92%) scored from 6.0 to 10 marks. Figure 12
summarizes the candidates’ scores in the question.
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Figure 12: Distribution of the Candidates’ Scores in Question
2

Figure 12 shows that 59.31 per cent of the candidates scored from 3.5 to
10 marks, whereas 40.69 per cent scored from 0.0 to 3.0 marks,
signifying an average performance.

Data analysis reveals that 38.39 per cent of the candidates performed well
in the question. Most of these provided the correct cause, symptoms and
the control measures of the diseases. In part (a), they were able to identify
the lack of calcium in plant as the cause of the diseases. In part (b), they
correctly provided the major symptoms of the plant diseases such as small
depressed, water-soaked area on the blossom end of the fruit and dark
bruise spots which when enlarges become sunken and turn black or dark
leathery brown in colour. In part (c), they provided the correct control
measures such as; choose cultivars that are tolerant of calcium
deficiencies and less likely to show blossom in colour, avaoid watering
your plants too much or too little, use mulches to retain soil moisture
during dry periods, have your soil tested periodically, check the soil ph
on a regular basis particularly if you use lime as a calcium source,
fertilize plants to add calcium in the soil and avoid cultivating near the
roots of plants. The correct responses given by the candidates signify a
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good understanding of the diseases. Extract 12.1 presents a sample of the
correct responses from one of the candidates.

‘ 2 1a) Coues 9 Ho Leceare (Blogsom e ioh e honodeg

i) tigidency y aldum(ce®!) .

~*&&u”um]‘” o vnigaa! elyment whidh 9(mt e il llein

%ﬂmﬂ’(’m oA fwet jrﬂiﬂﬁ_ﬂm! ¢ JPWUPIL}/

Cam@ DmrdFo(mc&(O(\ q mﬂ Qf‘uue '

Y 1rreqular i n‘nq aw\umab danty

leatlar ke cmue e elffend amowhvn o Y

mMﬂm fon () by Wﬂlarﬂ tan W sl e

| foue_fptenchion ¢ W Fufl fede

i > ﬂ(Mw n%ﬂqan R Jm‘(

Lo thee o quet Smgen t Yo sl logge oot

‘ Q Ai’\vr)q Wl Lo a\oxorhe& hu Hu vaa}v Y)[CU’IL

“ad tPhogen mkﬂm whth aﬁuoﬂo}nbn 8 aldum ron

\o\{ the qi{aM

@O Loodigwat  amant o mofiture i Mo wd

LAp thore b \Y?m(!& | wathre CGY)Lmqr ta the (o @pa‘um

ol oo Yo dhate ‘s\l e plah hoguer 11w ol

ol (\\m(ﬂ wowiabl & 10({1 i

1 (h) b wafor_syfbmy_ Hy olPezaet .

-~

%y Rw\«?mq 4 e boma® Infl ol o blowom ene

| i ar)rww G waler .

! u7 I}e\mfamﬂm 4 harbu den o thy Suﬂ,mu v the

s oAt oty _end.

67



(0)  Count o Yy Leeare (Blogeorn end tod g0 haohey

i) Mﬁ”cﬁ’en‘f\/ y aldum{ c®) .

Floturn ™% o mindal elment whith flay o il wlin

fuonelen g dh lmf& Yo . Thoefm th detgueny

Ccm@ oy Go(mukoﬂ Q mﬂ H’uue '

u> Wefmlar wa n"hq Mho‘mmb oty

\wemk\ur m\-a?na mme un em’um Oﬁwwhvn 4 il

mmlm fon (0?9 by W&ﬂlarﬂ tan Wy sl e

o _fpteackion g W Tufl feede

16 Ex e n%ﬁqan o the &l -

Lol Mue ® ecpt fhogen So the dal, loge amaut

o dibogen ol be ebeorked by Mo bmeb Y)[cm{

“ad dPhogen mkﬂm with Oiuow%bn g aldum ron

\w the ol{av\‘c

‘6 \Lna Wuap amuit o molte ot g

At e Unded wadure conbentt i M ol clbiumy

ol og Yo dhabe ‘N e planh hoquer 11w ol

ol ‘\\m(ﬂ wowiabl & ﬂ(& i

h) wafor_syfbms_ H oPeeaet .

=

9y Ru\—knq 3 by bma® Infl ol o blowom enc

it ar)rmw O waker

R BQ\M&JDW(\ A "lrbu den m thy a’uﬂ,aﬂ 9 the

ok 8t et

KC) Cotd tungutt o the dpastyre |

ri lo onuee o retlar wodcer%’ng ot bmab

Q\rmh for WT‘UQ(\'F oﬂmroxﬂ)m 4 (aﬂuum b Hu gl

[0 \0 aap Caaum Y H\ﬂ %nﬂ/{f{% acU; on 4

@M‘w quataint (R d‘um o Gl A 0l

68




Q@ hz-B\éQO&mem ODO\VQGLO(\ o, NHHoge neaus Q(hwl

1 i 4] J t 1

W T oduo Yo addffion o omante matler b e

<€aﬂ Tﬁmxw %anrc m Gﬁﬂmn hm« amcwrb

(INEEANY ' !

(0 t’7(; i okt &m‘ PH ot o nated ool

| bocayte \ma&'\ o law onlegre with Qnoxornh»n

| g taliam by Wu meafv ‘

W) "o cmtee T gl mof’«wva wt%vmak mlcﬁm.

exumi:usq ob\v%ml ¢heeli .

W) g J\‘m o rrdetane varrodies

Extract 12.1: 4 sample of the candidates’ correct responses in
question 2

In Extract 12.1, the candidate provided the correct responses in all parts
of the question, signifying a good understanding of the disease.

Further analysis indicates that 38.39 per cent of the candidates had an
average performance in the question. Most of them managed to identify
the cause of the disease in part (a) and its major symptoms in part (b). In
part (c), they provided partially correct responses on the control measures
of the diseases. The candidates seemed to be unfamiliar with the control
measure of the diseases.

However, 40.69 per cent of the candidates had a weak performance. The
majority of these failed to account for the cause, symptoms and control
measures of the disease. In part (a), they incorrectly named biotic agents
such as fungi, virus and bacteria as the cause of the disease. In part (b),
the incorrect responses for the symptoms of the disease given were;
dropping of leaves, yellowing of leaves, total death in tomato fruit, poor
fruits developments, sudden fall of the tomato fruits. In part (c), they
incorrectly provided control measures of other diseases rather than the
targeted one. Examples of such incorrect responses were use of fungicide,
field hygiene, use proper spacing, ragueing, use crop rotation, use
resistant varieties and use insecticides. Such responses indicate the lack
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2.2.3

of knowledge of the disease. Example of the incorrect responses in the
question is shown in Extract 12.2.
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Extract 12.2: 4 sample of the candidates’ incorrect responses in question

In Extract 12.2, the candidate incorrectly responded in both parts of the
question. This indicates lack of knowledge of the subject matter.

Question 3: Introduction to Weed Science

The question comprised parts, (a) and (b). Candidates were required to:
(a) suggest four ways that can be employed by a farmer to control weeds
that grow aggressively and multiply quickly and (b) examine six
disadvantages of the chemical weed control. The question assessed
candidates’ knowledge and skills in the weed control.

The question was attempted by 784 (100%) candidates, whereas 24
(3.06%) scored from 0.0 to 3.0 marks, 229 (29.21%) scored from 3.5 to
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5.5 marks and 531 (67.73%) scored from 6.0 to 10 marks. Figure 13
denotes the candidates’ scores in the question.
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Figure 13: Distribution of the Candidates’ Scores in Question 3

Figure 13, dipicts that 96.94 per cent of the candidates scored from 3.5 to
10 marks and 3.06 per cent scored from 0.0 to 3.0 marks. This indicates
general good performance.

Candidates who performed well in the question were 67.73 per cent. In
part (a), most of them manged to suggest the ways that can be employed
by the farmer to control weeds which grow aggressively and multiply
quickly. Examples of the correct responses given by the candidates
include use of appropriate herbicides such as 2,4-D, application of
heavy manure, use of trap crops, uproot the weeds and destroy them,
cultivating to turn the soil, and mulching to deprive weeds of light.
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Likewise, in part (b), they were able to examine thedisadvantages of the
chemical weed control. The responses given were cause health risk to
human beings especially when breathed or ingested, they can destroy
even the vegatations which were not targeted, regular application of
weeds may develop weed resistant to herbicides, chemicals may drift and
cause harm to other wildlife and plants, chemicals can leak away into
nearby water ways, it requires skills in mixing and application of
herbicides, the sprayers and herbicides are expensive. The responses in
both parts of the question signify a good understanding of the weed
control methods. Extract 13.1 portrays one of the correct responses in the
question.
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Extract 13.1: A sample of the candidates’ correct responses in
question 3

In Extract 13.1, the candidate provided the correct responses in all parts
of the question, implying a good understanding of the subject matter.

Moreover, 29.21 per cent of the candidates had an average performance.
The majority of them correctly examined the disadvantages of chemical
weed control in part (b). In part (a), they failed to understand the
requirement of the question. That is, they provided general methods of
weed control such as the chemical, biological and cultural methods
instead of the specific ways for controlling noxious weeds that grow
agressively and multiply quickly.

On the contrary, 3.06 per cent of the candidates did poorly in the
question. These failed to supply the correct responses in almost all parts
of the question. In part (a), the candidates did not understand that weeds
that grow aggressively and multiply quickly are noxious weeds. Their
failure to understand the question made them provide the incorrect
responses such as weeds can be controlled by adding fertilizer, it can be
controlled through burning, it can be controlled through planting
resistant varieties, can be controlled through avoidance and can be
controlled through quarantine. The candates’ responses signify a failure
to understand the requirement of the question.
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Similarly, in part (b), the candidates failed to examine the disadvantages
of the chemical weed control. They provided a variety of the incorrect
responses such as it stimulate some weeds to grow, when herbicides are
applied in areas with temperature it lead to evaporation, it reduce the
plant ability in resistance against pest and disease and can be affected by
climatic change. This indicates the lack of knowledge of the subject
matter. Extract 13.2 shows an example of the incorrect responses in the
question.
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Extract 13.2: A sample of the candidates’ incorrect responses on
question 3.
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In Extract 13.2, the candidate responded incorrectly in all parts of the
question. For example, in part (b) he/she provided responses that focus on
the advantages instead of the disadvantages as the question demanded.

2.2.4 Question 4: Crop Pests

The question required candidates to suggest the damages that might be
caused by each of the following pests to the crop they attack based on
their mode of feeding (a) maize stalk borer (b) cotton stainer and (c) leaf
hopper. The question examined the candidates’ knowledge of the
damages caused by pests.

The question was attempted by 784 (100%) candidates, whereas 256
(32.65%) scored from 0.0 to 3.0 marks, 303 (38.65%) scored from 3.5 to
5.5 marks and 225 (28.70%) scored from 6.0 to 9.5 marks. Figure 14
illustrates the candidates’ scores in the question.

Scores
m0.0-3.0

g035-5.5
B6.0-9.5

38.65%

Figure 14: Distribution of the Candidates’ Scores in Question 4

As shown in Figure 14, 67.35 per cent of the candidates scored from 3.5
to 9.5 marks, whereas 32.65 per cent fom 0.0 to 3.0 marks. The general
performance in the question was good.
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Data analysis shows that 28.70 per cent of the candidates performed well
in the question. Most of them managed to suggest the damages caused by
the named pests. In part (a), the damages caused by the maize stalk borer
were; damage water and nutrient transporting tissues, characteristics
‘window panes and cause holes where tissues has been eaten away. In
part (b), the damages caused by cotton stainers were; yellowing of plants,
wilting of plants, stunted growth and disease transmission. In part (c), the
damagesdamages caused by the leaf hopper were; holes in the leaves and
stems, semicircular holes along the edges the leaves, discolouration on
the surface or edges of the foliage and flower petals, and plant wilting.
The responses provided show a good understanding of the damages
caused by the pests based on their mode of feeding. Extract 14.1 is a
sample of the correct responses in the question.
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Extract 14.1: A sample of the candidates’ correct responses in question

In Extract 14.1, the candidate correctly responded in all parts of the

questi

on, showing the mastery of the subject matter.
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Furthermore, 38.65 per cent of the candidates performed averagely. Most
of these provided the correct responses in part (a) and partially correct
responses in part (b) and (c). This is attributed to their inadequate
knowledge of the damages caused by pests based on their mode of
feeding.

On the other hand, 32.65 per cent of the candidates had a weak
performance in the question. Most of them failed to suggest the damages
caused by pests based on their mode of feeding. The candidates did not
understand the modes of feeding of the named pests; hence their
responses were not related to the demand of the question. For example,
the incorrect damages caused by the maize stalk borer provided were;
maize become powdered, they have sucking mouth part, they cause direct
damage and they cause seed domance. The incorrect damages caused by
cotton stainer provided were; affect sorghum lead, affect the whole body
of cotton, they eat cotton into small parts and they cause infertility. The
incorrect damages caused by the leaf hoper provided were; cause tomato
end rot, boring the plant parts, cause dwarfism to crops, it cause
molttling and it cause late maturity to crops. Extract 14.2 is an example
of the candidates’ incorrect responses in the question.
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Extract 14.2: A sample of the candidates’ incorrect responses in
question 4

In Extract 14.2, the candidate provided the incorrect responses in all parts
of the question because of not knowing the modes of feeding of pests.

2.2.5 Question 5: Plant Breeding
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The question had parts: (a) and (b). Candidates were required to: (a)
briefly explain the breeding method to be employed to perform the
resistance breeding and (b) give seven steps to be involved in performing
the selected method. The question assessed candidates’ understanding of
the breeding methods.

The question was attempted by 784 (100%) candidates, whereas 344
(43.88%) scored from 0.0 to 3.0 marks, 178 (22.70%) scored from 3.5 to
5.5 marks and 262 (33.42%) scored from 6.0 to 10 marks. Figure 15
indicates the candidates’ scores in the question.
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Figure 15: Distribution of the Candidates’ Scores in Question 5

Figure 15 indicates that 56.12 per cent of the candidates scored from 3.5
to 10 marks whereas 43.88 per cent scored from 0.0 to 3.0 marks. The
general performance in the question was average.

Candidates who had a good performance constituted 33.42 per cent.
Most of them correctly attempted the question. In part (a), they managed
to explain the breeding method which can be employed to develop the

resistant varieties. Examples of such breeding methods were;
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hybridization, mutation breeding, introduction breeding, selection
breeding, mass selection, pure line selection, pedigree selection,
recurrent selection and genetic engineering. Consequently, in part (b),
they gave the steps involved in the selected breeding method. This
indicates that the candidates were knowledgeable and skilled in the
breeding methods of the resistance breeding. Extract 15.1 is an example
of the correct responses in the question from one of the candidates.
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Extract 15.1: 4 sample of the candidates’ correct responses in question
5

In Extract 15.1, the candidate demonstrated the mastery of the subject
matter.
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Candidates who attained an average performance were 22.70 per cent.
Most of them correctly explained the breeding method for resistance in
part (a) but provided partially correct responses of the steps involved in
the method. This signifies a partial understanding of the breeding
methods for resistance.

However, the analysis indicates that 43.88 per cent of the candidates had
a weak performance. Most of them failed to explain the breeding method
for resistance and the steps involved in part (a) and (b), respectively.
They mentioned the breeding techniques, which were not for resistance
breeding such as line breeding, apomixes, progeny testing, and natural
breeding. This implies that the candidates had a low understanding of the
breeding methods for resistance. Example of the incorrect responses in
the question is illustrated in Extract 15.2.
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Extract 15.2: 4 sample of the candidates’ incorrect responses in

question 5

2.2.6

In Extract 15.2, the candidate explained the breeding method, which is
not for developing resistance, signifying the lack of knowledge and skills
in the breeding methods for resistance.

Question 6: Introduction to Animal Nutrition

The question comprised parts: (a) and (b). Candidates were required to:
(a) give a reason why the chicken do not need teeth during the digestion
and (b) describe the digestive system of the chicken. The question
examined candidates’ knowledge of the chicken digestive system.

The question was attempted by 784 (100%) candidates, whereas 75
(9.57%) scored from 0.0 to 3.0 marks, 251 (32.02%) scored from 3.5 to
5.5 marks and 458 (58.41%) scored from 6.0 to 10 marks. Figure 16
shows the candidates’ scores in the question.
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Figure 16: Distribution of the Candidates’ Scores in Question 6
Figure 16, shows that 90.43 per cent of the candidates scored fom 3.5 to
10 marks, while 9.57 per cent scored from 0.0 to 3.0 marks. This indicates
a good performance in the question.

Data analysis reveals that 58.41 per cent of the candidates performed well
in the question. In part (a), they correctly gave a reason why the chicken
does not need teeth during the digestion. Their response was that chicken
has a gizzard, which carry out the mechanical breakdown of food. In the
gizzard, digestive enzymes are added to the mix and physical grinding of
the food occurs by insoluble grit through strong muscular action.

Likewise, in part (b), the candidates managed to describe the digestive
system of the chicken. The correct responses provided were: mouth - for
picking up food and swallows it with the help of tongue, crop - for
temporary storage of food before it move into the stomach for digestion,
stomach - from the crop the food enters the true stomach (proventiculus)
where food is mixed with addition of hydrochloric acid and digestive
enzymes, gizzard - in it the grit are accumulated which grind down food
by strong muscular action, small intestine- the nutrients are absorbed and
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the residues then passes through the caeca, caeca - this is a blind suck
along the lower intestinal tract where bacteria help break down
undigested food, cloaca (vent) - for removing out faeces. The responses
clearly indicate a good understanding of the digestive system in chicken.
Extract 16.1 presents a sample of the correct responses in the question.
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Extract 16.1: A sample of the candidates’ correct responses in

question 6

In Extract 16.1, the candidate attempted both parts of the question
correctly. He/she exhibited a good understanding of the chicken digestive

system.

Further analysis shows that 32.02 per cent of the candidates performed
averagely. In part (a), they managed to give a reason why the chicken
does not need teeth during the digestion. However, they only partially
provided the descriptions of the chicken digestive system but in part (b).
This shows the possession of satisfactory knowledge of the subject

matter.

On the contrary, 9.57 per cent of the candidates had a weak performance
in the question. In part (a), these failed to give a reason why the chicken
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does not need teeth during the digestion. Some of the incorrect resposes
provided were; chicken do not need teeth due to possessing gut called
crop which contain stone like structure, the nature of feed eaten by
chicken are very small particles which have no need to be digested
physically in the mouth, the chicken have a mouth which is needle like
structure which help to grind feeds, because have the crop which help to
moisten the food and presence of crop which contain sand particles that
enable digestion. Moreover, in part (b), they failed to describe the chicken
digestive system. Some of them described the ruminant stomach such as
rumen - help in digestion of cellulose, reticulum - help to filter coarse
particles, omasum - for reabsorption of water in chicken and abomasum-
produce digestive juices. Others described parts of the reproductive
system instead of the digestive system. This demonstrates a failure to
meet the demands of the question. Extract 16.2 presents a sample of the
incorrect responses from one of the candidates.
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Extract 16.2: A sample of the candidates’ incorrect responses in

question 6

2.2.7

In Extract 16.2, the candidate’s responses indicate the lack of knowledge
of the chicken digestive system. He/she responded incorrectly in both
parts of the question.

Question 7: Introduction to Animal Health

The question had parts: (a) and (b). Candidates were required to: (a)
suggest six observable signs that help to identify unhealthy animals and
(b) analyse four effects of parasites on animals. The question examined
the candidates’ knowledge and skills in livestock diseases and parasites.

The question was attempted by 784 (100%) candidates, of which 4
(0.51%) scored from 2.0 to 2.5 marks, 137 (17.47%) scored from 3.5 to
5.5 marks and 643 (82.02%) scored from 6.0 to 10 marks. Figure 17
portrays candidates’ scores in the question.
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Figure 17: Distribution of the Candidates’ Scores in Question 7
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As shown in Figure 17, the analysis shows that 99.49 per cent of the
candiadates scored from 3.5 to 10 while 0.51 per cent scored from 2.0 to
2.5 marks. The general performance in the question was good.

Candidates who performed well were 82.02 per cent. In part (a), most of
them correctly suggested the observable signs that help the farmer to
identify the unhealthy animals. They provided the correct responses such
as appearance of the animal, feeding, animal behaviour, coughing, urine
and excreta, mucous membranes, changes in temperature and pulse rate.
This implies that the candidates were knowledgeable and skilled in the
parameters that can be used to identify a sick animal.

In part (b), they were able to analyse the effects of parasites on animals by
providing responses such as worms deprive the host animal of food leading
to loss of weight, emaciation and low production, biting parasites such as
tsetseflies break the skin exposing the animal to secondary infection, some
external parasites irritate the animals through their biting effects causing
the animal to rub itself against solid objects, some parasites such as ticks
and tsetse flies spread diseases from sick animals to healthy ones, and they
cause anaemia due to action of sucking large volume of blood from the
host animals. These responses show the mastery of the subject matter.
Extract 17.1 is a sample of the correct responses in the question.
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Extract 17.1: A sample of the candidates’ correct responses in question

In Extract 17.1, the candidate performed well in all parts of the question,
demonstrating a good understanding of the subject matter.

Candidates who performed averagely in the question were 17.47 per cent.
In part (b), most of them managed to analyse the effects of parasites on
animals. In part (a), they failed to exhaust the observable signs for the
unhealthy animals. In addition, some of them were unable to give sufficient
explanation of the signs. Their partial correct responses indicate insufficient
knowledge and skills in detecting the unhealthy animals.

Nevertheless, 0.51 per cent of the candidates had a weak performance.
Most of their responses in both parts of the question were not correct. In
part (a), they failed to suggest the observable signs that can be used to
identify the unhealthy animals. They provided the incorrect responses such
as animal isolate itself, the animal eat more food, the animal mount others,
mucus discharge from the vulva, vulva become red, the animal make noise,
and animal urinate much. Most of these are the signs of heat in animals and
not the signs of the unhealthy animals.
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Likewise, in part (b) the candidates failed to analyse the effects of
parasites on animals by providing different incorrect responses such as
increase cost of treatment to the farmer, the animal tend to shake the head
frequently, it may cause severe infection to human beings, parasites cause
the animal to look dirty, and parasites cause salivation to animals. This
signifies the lack of knowledge of the effects of parasites on animals. An
example of the incorrect responses in the question is portrayed in Extract
17.2.
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2.2.8
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Extract 17.2: A sample of the candidates’ incorrect responses in question
7

In Extract 17.2, most of the responses provided by the candidates were
incorrect. In part (a), he/she focused his/her responses on the signs of the
healthy animal instead of the unhealthy one. In part (b) the candidate
scored two points which are (b) (i) and (i1).

Question 8: Pasture Agronomy

The question had parts: (a) and (b). Candidates were required to: (a) give
three limitations of natural pastures and (b) give seven reasons for
establishing a mixture of grass-legume pastures. The question assessed the
candidates’ understanding of the pastures.

The question was attempted by 784 (100%) candidates where 4 (0.51%)
scored from 0.0 to 3.0 marks, 56 (7.14%) scored from 3.5 to 5.5 marks and
724 (92.35%) scored from 6.0 to 10 marks. Figure 18 illustrates the
candidates’ scores in the question.
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Figure 18: Distribution of the Candidates’ Scores in Question 8
Figure 18 shows that 99.49 per cent of the candidates scored from 3.5 to
10 marks whereas 0.51 per cent scored from 0.0 to 3.0 marks. Generally,
the candidates’ performance was good.

Further analysis indicates that 92.35 percent of the candidates had a good
performance. In part (a), majority of them were able to give the
limitations of the natural pastures as grow on poor fertile soils and hence
affecting their productivity, natural pastures have poor quality grass and
legumes as a result of poor nutrition, not all grasses or legumes are eaten
by animals in natural pastures. Likewise, in part (b) they managed to give
the reasons for establishing a mixture of grass-legume pastures. They
provided responses such as provide an economical source of livestock
feeds, build soil tilth and fertility, reduce invasion of noxious and
poisonous weeds, reduce erosion, animals are less prone to bloat when
grazed to mixed pastures, increase yield and quality of pastures by
providing nitrogen through atmospheric fixation, crops to be grown in the
area can benefit from a larger amount of soil available nitrogen, offers
rich amount of digestible protein, calcium and minerals, grass-legumes
mixtures is more palatable to livestock. This suggests that the candidates
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had sufficient knowledge of pastures. Extract 18.1 presents a sample of
the correct responses from one of the candidates.
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Extract 18.1: A sample of the candidates’ correct responses in
question 8

In Extract 18.1, the candidate performed well in the whole question. This
demonstrates the possession of sufficient knowledge of pastures.

Furthermore, Candidates who had an average performance where 7.14 per
cent. Most of the candidates were able to give the limitations of the
natural pasture in part (a) and in part (b) provided a few correct responses.
The incorrect responses in this part mainly focused on the steps of
establishing the artificial pasture instead of the reasons for establishing
the pastures.

However, 0.51 per cent of the candidates had a weak performance. The
candidates provided the incorrect responses in almost both parts of the
question. In part (a), they failed to give the limitations of natural pastures
instead provided a variety of the incorrect responses like natural pastures
push nutrients away far from the soil, natural legumes have ability to
supress legumes, natural pasture is not digestible, natural pastures lead
to development of people, natural pastures are easily affected by diseases.
Similarly, in part (b), they were unable to give the reasons for establishing
a mixture of grass-legume pastures. Examples of the incorrect responses
provided were the mixture cause bloat to animals, it enhances
environmental temperature, it provides foreign exchange, legume-grass
cause exploitation of different crops in the crop field and it help to break
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life cycle of pest and diseases. Their responses indicate the lack of
knowledge of pastures. Extract 18.2 shows an example of the incorrect
responses in the question.
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Extract 18.2: A sample of the candidates’ incorrect responses in

question 8

In Extract 18.2, the candidate responded incorrectly in almost all parts of
the question except response (a) (i) and (b) (i1).

2.2.9 Question 9: Livestock Reproduction, Breeding and Improvement

The question required candidates to explain five major causes of the
failure of the artificial insemination in cows. The question tested
candidates’ knowledge and skills in the practice of the artificial
insemination.
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The question was attempted by 784 (100%) candidates, of which 320
(40.82%) scored from 0.0 to 3.0 marks, 301 (38.39%) scored from 3.5 to
5.5 marks and 163 (20.79%) scored from 6.0 to 10 marks. Figure 19
summarizes the candidates’ scores in the question.

Scores
m0.0-3.0
03.5-5.5
m6.0-10

Figure 19: Distribution of the Candidates’ Scores in Question 9

Figure 19 shows that, 59.18 per cent of the candidates scored from 3.5 to
10 marks and 40.82 per cent scored from 0.0 to 3.0 marks. Data indicate
general average performance of the candidates.

Candidates who had a good performance in the question were 20.79 per
cent. Most of them correctly explained major causes of failure of the
artificial insemination in cows. They provided the correct responses like
failure of the farmer to detect heat on time, an incompetent inseminator
cotribute to the failure through improper semen handling and incorrect
insemination technology, loss of weight of an animal before or after
insemination may negatively affect the critical stages of early embryonic
development, poor nutrition cause failure to show clear signs of heat in
cows, abnormal injured or infected reproductive tract, poor quality
semen, dirty or unsterilised equipment may kill the spermatozoa in the
semen. Their responses show a good understanding of the practice of the
artificial insemination. Extract 19.1 exemplifies the correct responses in
the question.
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Extract 19.1: A sample of the candidates’ correct responses in

question 9
In Extract 19.1, the candidate correctly attempted the question showing the

mastery of the artificial insemination practice.

Furthermore, 38.39 per cent of the candidates performed averagely. Some
of them provided partially correct responses to the question while others
failed to exhaust all the points demanded. This indicates partial knowledge
and skills in the practice of the artificial insemination.
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2.2.10

On the other hand, Candidates who had a weak performance in the
question were 40.82 per cent. Most of them attempted the question
incorrectly. They failed to explain the major causes of the failure of the
artificial insemination in cow. They mainly provided the disadvantages of
the artificial insemination instead of the causes for its failure. Some of the
responses provided were spread of undesirable gene, may lead to spread
of disease especially if the semen are collected from the diseased bull, it is
expensive, it is a tedious work to detect the heat periods of cows, it needs
technical skills to inseminate. This indicates a failure to meet the
requirement of the question due to the misconception. Extract 19.2 is a
sample of the incorrect responses in the question.
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Extract 19.2: 4 sample of the candidates’ incorrect responses in
question 9
In Extract 19.2, the candidate provided the disadvantages of the artificial
insemination instead of the causes for its failure as the question required.

Question 10: Environmental and Technological Challenges in
Agricultural Development

The question required candidates to evaluate five benefits of genetic
engineering in animal production. The question examined the candidates’
knowledge of genetic engineering.
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The question was attempted by 784 (100%) candidates out of which 49
(6.25%) scored from 0.0 to 3.0 marks, 168 (21.43%) scored from 3.5 to 5.5
marks and 567 (93.75%) scored from 6.0 to 10 marks. Figure 20 depicts
the candidates’ scores in the question.
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Percentage of Candidates

Figure 20: Distribution of the Candidates’ Scores in Question 10

Figure 20 indicates 93.75 per cent of the candidates scored from 3.5 to
10 marks, whereas 6.25 per cent fom 0.0 to 3.0 marks. The general
performance in the question was good.

The statistics show that, 72.32 per cent of the candidates performed well.
The majority of them managed to evaluate the benefits of genetic
ingineering in animal production. The correct responses were; Improve
diseases and parasite resistance and stress withstand, create extended
life, develop specific traits, animals can be modified to produce more
milk, grow more muscle tissue or produce different coats so that a wider
range of fabrics can be created, greater yield can be produced, and
predict outcome. Such responses indicates a good understanding of the
subject matter. Extract 20.1 is a sample of the correct responses fom one
of the candidates.
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Extract 20.1: 4 sample of the candidates’ correct responses in question

In Extract 20.1, the candidates exhausted all the correct points showing

possession of adequate knowledge of the subject matter.

Candidates who had an average performance in the question were 21.43
per cent. They seemed to understand the benefits of genetic engineering
in animal production but could not explain them fully. Their partial
correct responses signify possession of inadequate knowledge of the

subject matter.

Nevertheless, 6.25 per cent of the candidates performed poorly. Most of
them failed to evaluate the benefits of genetic engineering in animal
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production. They provided a variety of the incorrect responses such as it
help to know the genotype of the animal, it helps to identify the behaviour
of the animal, it helps to know breeding of the animal, it helps to know the
genes and species of the animal and it help to know the condition of the
animal during birth. This implies that, they lacked knowledge of genetic
engineering in animal production. Extract 20.2 is a sample of the
incorrect responses in the question.
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Extract 20.2: 4 sample of the candidates’ incorrect responses in question

110




2.3

2.3.1

In Extract 20.2, the candidate focused his/her responses on the benefits
of genetic engineering in crop production contrary to the demand of the

question.

THE ANALYSIS OF CANDIDATES’ PERFORMANCE IN 134/3
AGRICULTURE 3

Question 1: Soil Science

In this question, candidates were provided with the following specimen,
apparatuses and materials: X (wood ash), 100 cm® beaker, 100 cm?’
measuring cylinder, spatula, stirring rod, blue and red litmus paper and
distilled water. They were required to carry out procedures hereafter and

answer questions that follow.

Procedures

(1)

(i)
(iii)
(iv)

Measure 50 cm? of distilled water and pour it into a beaker.

Put five spatulaful of specimen X into a beaker containing
distilled water.

Stir the mixture well.

Deep each of the red and blue litmus paper into the mixture and
make observation.

The question comprised parts (a), (b), (c), (d), (e), (f) and (g). Candidates
were required to:

(a)

(b)
(©)

(d)
(e)

record the observations in the following table:

Experiment with litmus papers Observations

Red litmus paper

Blue litmus paper

state the pH of the specimen from the result of the experiment.
briefly explain, in two points, the intension of farmers to use
specimen X in the soil when growing cabbage in Kilimanjaro,
Mbeya, Bukoba and Rungwe.

why farmers living in semi desert areas are not advised to use
specimen X when growing coffee crop?

suggest by giving a reason, in reference to part (d), the suitable
management practices to be adopted by farmers.
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® give three precautions to be observed when using specimen X in
the soil.

(2) write down three functions of each of the important nutrient
elements that are contained in specimen X. The question assessed
candidates’ knowledge and skills in the soil reaction concept.

The question was attempted by 784 (100%) candidates, whereas 449
(57.27%) scored from 1.0 to 6.5 marks, 328 (41.84%) scored from 7.0 to
11.5 marks and 7 (0.89%) scored from 12 to 15 marks. Figure 21 shows
the candidates’ scores in the question.

100
90
80
70
60

30 41.84

.
=

Percentage of Candidates

10 0.89

00-6.5 7.0-115 12 - 15
Scores

Figure 21: Distribution of the Candidates’ Scores in Question 1

As shown in Figure 21, the analysis indicates that 42.73 per cent of the
candidates scored from 7.0 to 15 marks and 57.27 per cent scored from
1.0 to 6.5 marks. Generally, the candidates’ performance was average.

Candidates who performed well in the question were 0.89 per cent. They
correctly responded to almost all parts of the question. In part (a), they
correctly recorded the observation in the table as follows:

Experiment with litmus papers Observations
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Red litmus paper It changed from red to blue

Blue litmus paper It remained unchanged

In part (b), they were able to give the pH of the specimen as alkaline or
basic in reaction. In part (c), the candidates managed to explain the
intention of farmers to use specimen X (wood ash) when growing
cabbages in Kilimanjaro, Mbeya, Bukoba and Rungwe. The candidates
provided the correct responses such as the soil in the stated regions are
acidic in nature because these area receive maximum amount of rainfall
thus basic ions such as sodium, potassium, magnesium and calcium are
removed by leaching due to heavy rainfall making the soil acidic.
Therefore, addition of specimen x in the soil create favourable alkaline
condition which favour the growth of cabbage by supplying basic nutrients
such as phosphorus, calcium, potassium and magnesium. In addition, and
due to acidic nature of these regions, specimen X help to neutralise the
acidity of the soil since it contains significant amount of calcium which act
as a substitute for lime.

Likewise, in part (d), they provided the correct reason for not using
specimen X in semi-desert area when growing coffee as the soil in semi-
desert area is alkaline due to the little amount of rainfall in that area thus
having higher amount of alkaline earth carbonates and exchangeable
sodium percentage. Coffee is the crop favoured by acidic soil condition
therefore it is not advised to apply specimen X in the soil. In part (), they
managed to suggest the suitable management practices to be adopted by
farmers, in reference to part (d). These were as acidification of the soil
which involve build-up of hydrogen cations to lower the soil pH. Reason,
acidification is important since coffee is an acidic loving crop and the soil
in semi desert is alkaline in nature. In part (f), they managed to give
precautions to be observed when using specimen X in the soil. Examples
of such correct responses include do not spread specimen X around acidic
loving plants, always mix specimen X in the soil if left in piles, avoid
specimen X coming into contact with seedlings because it contains salt
which may cause scorching.
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In part (g), the candidates provided the correct responses on the functions
of the important nutrient element contained in specimen X. They
provided the correct responses such as, calcium strengthen cell wall of
plants, it neutralises organic acids, it promotes seed production, it
regulates uptake of potassium by plants, it is essential for normal cell
division and promotes early root development. Potassium is essential in
the formation of the carbohydrate and translocation of starch to various
parts of the plant, it strengthen straws and stalk of cereal plants, is an
activator of number of enzymes involved in amino acid synthesis and
encourage normal cell division to young plants. Phosphorus promotes
formation of seeds and roots, promotes formation of tillers in cereals
crops, makes straws stronger and more resistance to lodging, improves
disease resistance in plants and it is essential constituent of many vital
compounds such as nucleotides and phospholipids. Magnesium is
involved in phosphorus metabolism in plants and help in translocation of
carbohydrates in the form of sugars in plants and it is a part and parcel
of the chlorophyll molecules without which photosynthesis cannot occur.
These responses demonstrate the possession of adequate practical skills
and knowledge of soil reaction. Extract 21.1 exemplifies the correct
responses in the question.
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Extract 21.1: A sample of the candidates’ correct responses in
question 1

In Extract 21.1, the candidate provided the correct responses in most
parts of the question, except part (f) and (g) where he/she missed 1
function of phosphorus, 2 of magnesium and 3 of potassium.

Furthermore, 41.84 per cent of the candidates had an average
performance. Most of such candidates provided the correct responses in
part (a) and (b) and partially correct responses in the remaining parts of
the question. This indicates partial understanding of the subject matter.
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On the contrary, 57.3 per cent of the candidates had a weak performance.
They responded incorrectly in almost all parts of the question. In part (a)
and (b), they failed to record correct observations and state the Ph of the
specimen respectively. In part (c), the candidates failed to explain the
intension of the farmers to use specimen X in the soil. Some candidates
provided the importance of the organic matter contrary to the
requirement of the question. Examples of such responses were it help to
improve soil structure, it helps to improve porosity of the soil and
improve aeration of the soil. Other candidates provided a variety of the
incorrect responses such as ensure nitrogen fixation to the plant, help in
reduction of toxicity to the soil and it activates enzymes. In part (d), they
were unable to give a reason for not using specimen X when growing
coffee in semi desert area. The candidates did not understand that the
semi-desert area is alkaline in nature. Contrarily, most of their responses
treated the areas as acidic in nature. For example, semi desert areas are
acidic in nature so the specimen will neutralise the acid, coffee grows in
basic or alkaline soil, specimen X increase acidity in the soil and
specimen X increase the growth of coffee.

Moreover, in part (e), they failed to suggest, with a reason, the suitable
management practice to be adopted by farmers in reference to part (d).
Most of them incorrectly provided agronomic practices of maintaining
soil fertility. Example of responses were crop rotation, mulching, use of
cover crops, liming, and application of organic manure. Other
candidates provided a variety of the incorrect responses such as proper
cultivation, proper pruning and proper land preparation. In part (f), they
were unable to give precautions to be observed when using specimen X
in the soil. Most of their responses focused on the precautions to be
taken when applying agrochemicals in the farm such as wear a mask to
avoid direct contact with the nose, wear glasses to protect the eyes,
apply following the direction of wind, read and follow the
manufacturer’s instructions when applying, wash hands with plenty of
clean water after applying specimen X and wear gloves to avoid direct
contact with the skin. In part (g), the candidates were unable to give the
functions of each of the important nutrient elements contained in
specimen X. Some candidates provided wrong elements like oxygen,
nitrogen, sulphur and carbon while others provided compounds like
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calcium carbonate and magnesium carbonate hence failed to give the
correct functions. This demonstrates that the candidates lacked practical
skills and knowledge of the subject matter. Extract 21.2 is an example of

the incorrect responses in the question.
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Extract 21.2: 4 sample of the candidates’ incorrect responses in
question 1

In Extract 21.2, the candidate provided the incorrect responses to nearly
all parts of the question except in part (a) where he/she made correct
observation.

2.3.2 Question 2: Crop Science and Production

In this question, candidates were provided with experimental set up 1 and
2 with plants planted in two rows and 30 cm ruler. They were then
required to perform procedures and answer questions that followed:

Procedure
Use the ruler to measure the plant spacing between and within rows in the
experimental set up 1 and 2.

The question had parts (a), (b), (¢) and (d). Candidates were required to:
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(a) record the results obtained in the stated procedure in the table

provided:

Experimental | Between rows spacing Within rows spacing
set up (cm) (cm)

1

2

(b)  calculate, by referring to the experimental set up 1, the number of
plants which will be available if the farmer has established 1 ha of

pastureland.

(c)  Calculate, by referring to the experimental set up 2, the amount of
viable seeds in kg that will be required to plant 1 ha of pastureland
if each seed that germinates into the plant seedling weighs 0.5g.

(d)  briefly explain the five factors that guide farmers in deciding the
spacing to be used for a certain crop. The question assessed
candidates’ ability to determine the plant population in a given

arca.

The question was attempted by 784 (100%) candidates, of which 374
(47.70%) scored from 0.0 to 5.0 marks, 276 (35.21%) scored from 5.5 to
8.5 marks and 134 (17.09%) scored from 9.0 to 14.5 marks. Figure 22
portrays the candidates’ scores in the question.
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Figure 22: Distribution of the Candidates’ Scores in Question 2
As shown in Figure 22, 52.30 per cent of the candidates scored from 5.5
to 14.5 marks and 47.70 percent scored from 0.0 to 5.0 marks. The
general performance in the question was average.

Data show 17.09 per cent of the candidates had a good performance.
Most of them correctly attempted almost all parts of the question. In part
(a), they managed to record the results obtained from the experiments as

follows:

Experimental set
up

Between rows spacing
(cm)

Within rows
spacing (cm)

1

75

30

2

75

60

In part (b), they correctly calculated the number of plants available in 1
ha of pasture land in experimental set up 1. The correct responses

provided by the candidates were:

Plant population = farm area (m?) x plants per hole

Plant spacing in meters
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Data
Farm area= 1 ha= 10000 m?
Plants per hole = 1
Plant spacing in meters = 0.75 mx 0.3 m
Plant population = 10000 m? x 1
0.75m x 0.3 m
=44, 444 plants per ha.

Furthermore, in part (c), they were able to calculate the amount of
viable seeds required to plant 1 ha of pasture land as follows:

Plant population = farm area (m?) x plants per hole
Plant spacing in meters

Data
Farm area = 1 ha = 10000 m?
Plant per hole =2
Plant spacing in meters = 0.75 m x 0.6 m
Plant populatio = 10000 m2 x 2
0.75mx 0.6 m
= 44,444 plants per ha
Amount of seeds in kg
Iseed that germinate = 0.5g
44,444 seeds willbe =x g

44.444x 0.5
1
=22,222g of seeds
lkg =1000g
Xkg =22,222¢g
22,222 x1 =22.2kg
1000
Amount of seeds = 22.2 kg.

In part (d), they correctly explained the factors that guide farmers in
deciding on the spacing to be used for a certain crop. Such responses
were; the type of machinery to be used, soil fertility, moisture
availability, use of crop, pest and disease control, the size of plants,
growth habit of crops and seed rate. The candidates demonstrated
good mathemathical skills. They also had a good understanding of the
concept of crop spacing. Extract 22.1 is a sample of the correct
responses from one of the candidates.
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Extract 22.1: A sample of the candidates’ correct responses in
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In Extract 22.1, the candidate provided the correct responses in all
parts of the question except part (d) (v) where the response was partial
correct.

Candidates who had an average performance were 35.21 per cent.
Most of them provided the correct responses in part (a), (b) and (c).
However,they were unable to explain the factors to consider when
deciding crop spacing in part (d), implying a low understanding of the
subject matter.

However, 47.70 per cent of the candidates had a weak performance. In
part (a), most of these interchanged the values of within the row
spacing and between the row spacing. This is probably because of not
knowing the concepts. Others provided incorrect values due to poor
measurement skills. In part (b) and (c), they did not understand the
formula for calculating plant population, hence arrived at the incorrect
values.

In part (d), the candidates were unable to explain the factors guiding
farmers in deciding the spacing for a certain crop. Most of them
provided the responses, which were not related to the question asked.
For example, it reduce competition for nutrients and space between
plants, to ensure environmental condition of the area, to ensure soil
type, and improve size of the farm, consider climate of the area,
consider area given and resistance of crop varieties. These responses
exemplify the lack of knowledge and skills in the subject matter.
Extract 22.2 presents a sample of the incorrect responses from one of
the candidates.
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Extract 22.2: 4 sample of the candidates’ incorrect responses in question 2.

In Extract 22.2, the candidate responded incorrectly in all parts of the
question. He/she lacked knowledge and skills in the subject matter.

2.3.3 Question 3: Crop Science and Production

In this question, candidates were provided with specimen C (tomato plant
affected with bacterial wilt disease) with the following scenario: When
fruits of specimen C began to mature, a farmer observed abnormalities in
the field. Careful examination of the sample specimen by the plant
pathologist indicated injuries to the roots and upon cutting the stem base
and soaking it into water, a sticky, milk-white substance oozed into water.
Assuming you are a plant pathologist:

(a) outline three observable signs of the disease in specimen C.

(b) identify the problem facing specimen C based on the signs and
diagnostic examination observed.

(c) give the scientific name of the causative agent facing specimen C.

(d) briefly explain to the farmer how the specimen became infected with
the agent.
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(e) educate the farmer on the four conditions that encourage the spread of
the problem facing the specimen C.

(f) provide advice to the farmer on the six measures that can be taken to
rescue the specimen. The question tested candidates’ knowledge and
skills in plant diseases.

The question was attempted by 784 (100) candidates, whereas 16 (2.04%)
scored from 2.5 to 5.0 marks, 176 (22.45%) scored from 5.5 to 8.5 marks
and 592 (75.51%) scored from 9.0 to 14 marks. Figure 23 presents the
candidates’ scores in the question.

100 T
90 T
80 1 75.51
70 T+
60
50 +
40 +
30 + 22.45
20 +
10 + 2.04

0 I | |

25-50 55-8.5 9.0-14
Scores

Percentage of Candidates

Figure 23: Distribution of the Candidates’ Scores in Question 3

Figure 23 denotes that 97.96 per cent of the candidates scored from 5.5 to
14 marks and 2.04 per cent scored from 2.5 to 5.0 marks. The general
candidates’ performance in the question was good.

Candidates who performed well in the question were 75.51 per cent. Most
of them provided the correct responses in almost all parts of the question.
In part (a), they managed to outline the observable signs of the disease in
specimen C (tomato plant affected with bacterial wilt). In regard to this,
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they demonstrating good observational skills. The responses provided
were stunted leave growth, yellowing and browning of leaves, wilting of
the plant. In part (b), they were able to identify the problem facing
specimen C as specimen is infected with bacteria causing bactrial wilt
disease. In part (c), they managed to give the scientific name of the
causative agent facing specimen C as Ralstonia pseudomonas
solanacearum.

Likewise, in part (d), the candidates managed to give the explanations on
how the specimen became infected with the agent. The correct response
given was such as the bacteria enter the plant through injuries caused by
nematodes and physical damage by working tools in the roots and clog
themselves into the stem particularly in xylem vessels. In part (e), they
were able to educate the farmer on the four conditions that encourage the
spread of the problem facing specimen C. The correct responses given
were such as poor plant spacing, presence of root feeding insects such as
nematodes that damage the roots and leave the gaping holes, poor soil
such as infertile, acidic, heavy clay and poor drained soil, hot and humid
conditions, presence of water run off that carry and spread bacteria
causing wilt, presence of weeds that act as hosts without showing any
symptoms. Many weeds harbour the bacteria in the roots and use of
infected grafts and contaminated tools. In part (f), they managed to
provide the candid advice to the farmer on the six measures that can be
taken to rescue the specimen. The candid advice provided were such as;
try high beds to improve drainage, control root knots nematodes that
weaken plants and make them more prone to disease, choose resistant
varieties, space the plants further apart to ensure good air circulation,
use crop rotation, wash hands after handling infected plants and pay
attention to farm hygiene, flood the field 1-3 weeks before planting the
specimen, remove and destroy infected plants, reduce irrigation
frequencies, drain the field quickly after rain and maintain the soil pH at
6.2-6.5 which is ideal for tomato. The responses indicate competence in
the subject matter. Extract 23.1 presents a sample of the correct responses
from one of the candidates.
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Extract 23.1: A sample of the candidates’ correct responses in question 3

In Extract 23.1, the candidate provided the correct responses in almost all
parts of the question except in part (a), where he/she failed to outline the
observable signs of the disease.

Data analysis demonstrates that 22.45 per cent of the candidates
performed averagely. Most of them correctly responded in part (f). The
candidates provided partially correct responses in parts (a), (b) and (e).
Furthermore, they incorrectly attempted parts (c) and (d). This implies
that the candidates had partial understanding of the disease.

On the other hand, 2.04 per cent of the candidates had a weak
performance. Most of them responded incorrectly in nearly all parts the
question. In part (a), they failed to outline the observable signs of the
disease in specimen C. Some of the candidates provided the signs of
fusarium disease such as bacterial ooze, fruit spot and necrosis. Others
gave a variety of the signs of other diseases such as water soaking lesion,
dropping of fruits, leaf spot, and lesion on the stem and scorching. In part
(b), they were unable to identify the problem-facing specimen C. They
provided names of different diseases such as mosaic disease, leaf spot,
cankers, gummosis and streak disease. In part (c), they failed to give the
scientific name of the causative agent. They wrote names of different
organisms such as Meloidogyne javanica, Xanthomonas capentris,
Lycoperscon esculentum and Anthromonas compestris.

Similarly, in part (d), the candidates failed to explain how the specimen
became infected. Rather, they provided a variety of the incorrect
responses such as through irrigation, through mono cropping, through
affected plants, due to poor field practice, due to poor space between
crops. In part (e), they provided the incorrect responses on the conditions
that encourage the spread of the disease, such as the use of certified seeds,
use of legislative/ plant quarantine, crop rotation, destroying crop
residues, use of closed season and deep ploughing — which are the ways
of preventing plant diseases. In part (f), they failed to provide the candid
advice to the farmer on measures that can be taken to rescue the

140



specimen. Some of them provided the cultural methods of controlling
crop diseases and other incorrect responses such as early planting and
harvesting, use of cover crop, high organic matter content, observing
dead season and early sowing and applying hot water in the soil. This
indicates that the candidates were not knowledgeable about the disease.
Extract 23.2 presents a sample of the incorrect responses from one of the
candidates.
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Extract 23.2: 4 sample of the candidates’ incorrect responses in

question 3.

3.0

In Extract 23.2, the candidate provided the incorrect responses in almost
all parts of the question except in part (a) where he/she scored one point
and two points in part (f).

ANALYSIS OF THE CANDIDATES’ PERFORMANCE IN EACH
TOPIC AND FIELD

This section presents an analysis of the candidates’ performance in
different topics and fields examined in the year 2023. All 20 topics in the
Agriculture Syllabus were examined in theory papers and 2 fields in a
practical paper.

Data analysis on the performance of the candidates indicates that 14
topics and 1 field had a good performance, 4 topics and one field average
performance and 2 topics had a weak performance. The candidates had a
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4.0

4.1

good performance in the topics and field of Introduction to Animal
Health (99.49%), Pasture Agronomy (99.49%), Introduction to Weed
Science (96.94%), Environmental and Technological Challenges in
Agricultural Development (93.75%), Introduction to Soil Chemistry
(93.12%), Workshop Technology and Farm Structures (90.43%),
Introduction to Animal Nutrition (90.43%), Agricultural Production
Economics (84.31%), Introduction to Soil Science (78.56%), Crop
Science and Production (75.13%), Crop Pests (67.35%), Introduction to
Agricultural Prices (64.67%), Fundamental of International Trade and
Farm Planning (63.14%). Such a performance has been contributed by
the candidates’ possession of adequate knowledge and skills in the
subject matter.

The candidates had an average performance in the topics of Livestock
Reproduction, Breeding and Improvement (59.18%), Plant Diseases
(58.48%), Farm Power (58.04%), Plant Breeding (56.12%) and field of
Soil Science (42.73%). The performance was caused by the possession
of partial knowledge and skills in the subject matter.

On the other hand, a weak performance was demonstrated in the topics
of Farm Mechanization and Machinery and Introduction to Irrigation
(27.98%). This performance is attributed to the lack of knowledge of the
subject matter and misconceptions. The analysis of the candidates’
performance in each topic and field is summarized in appendix 1.

CONCLUSION AND RECOMMENDATIONS

This section gives an overview of the analysis and proposes measures to
improve candidates’ performance in future examinations.

Conclusion

In this examination 99.87 per cent of the candidates passed, which is a
good performance. Data analysis indicates that 2.17 per cent of the
candidates scored grade B, 36.86 per cent scored grade C, 47.19 per cent
grade D, 13.39 per cent grade E, 0.26 per cent grade S and 0.13 per cent
grade F.
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4.2

Furthermore, the analysis of the responses indicates that the candidates
who scored high marks had a good understanding of the subject matter
and fulfilled the requirements of examination questions. These made
them provide correct responses.

Further analysis shows that the candidates who scored lower marks had a
low understanding of the subject matter. This limited them from
providing correct responses or attempting examination questions. They
also failed to follow the instructions of questions. Their failure to follow
instruction is attributed to either misconceptions of concepts or inability
to perceive action verbs used for asking questions.

Recommendations
The following are recommended to improve the performance of
candidates in future examinations:

(a) use of better and learner centred teaching methods to enhance
students’ engament in the teaching - learning process. The
method (s) to be adopted should focus on the needs of the topic
and stages of the lesson development. For example;

(1) students can better understand the adjustments needed on
the tractor mounted mouldboard plough on the topic of
Farm  Mechanization and  Machinery  through
demonstration than lecture. Hence, demonstration is
recommended for building up new knowledge and
enabling students to learn by seeing and doing.

(i)  the effectiveness of the drip irrigation in minimizing
disease outbreak and weed growth compared to the
sprinkler irrigation and the strengths of the tractor over
the animal power can be more appreciated by conducting
study visits. That is, study visits should be carried out to
reinforce and consolidate knowlege and broaden
students”  knowlege  through interaction  with
proffessionals.

(iii)  The dermination of soil Ph can be better done through
laboratory work. The technique builds the new
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(iv)

(v)

(vi)

(vii)

knowledge, encourages creativity, improves memory and
develop critical analytical skills.

students can best learn the breeding methods for
resistance in the topic of Plant Breeding by watching
videos showing the practices. That is, video learning can
be used to reinforce and consolidate knowledge due to its
positive ability in increasing motivation and interest
among learners.

Students can learn different plant diseases such as
blossom end rot in the topic of Plant Diseases through
teaching aids in the classroom and the fieldwork. Real
plants affected by blossom end rot can be used as
teaching aid to build up the new knowledge. The strategy
helps students to remember concepts and improve their
cognition. Field work in an area affected by diseases can
for instance reinforce the knowledge. This is because the
technique gives students a chance to develop skills in a
real world situation, which supplements the classroom
teaching.

Group discussions can be used to reinforce and
consolidate knowledge and clear confusions in some
concepts such as the reasons for the failure and
disadvantages of the artificial inseminatio in the topic of
Livestock Reproduction, Breeding and Improvement can
be cleared through group discussions. Group discussion
helps to explore and interprete the topic and provides
opportunity for sharing experiences.

Brainstorming is more suitable in introducing lessons for
they help the instructor to determine what students know
about the subject matter. It is also useful in doing
reflection. Questions and answers diagnose students’
understanding of materials and can be used to review,
restate and summarize important points. The strategy is a
way of engaging with students to keep attention and
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(b)

(©)

reinforce their participation. It develops interest,
promotes inquisitive mind and enable students to think
critically.

Students should be emphasised to carefully read examination
questions before attempting them to clearly understand the
requirements in terms of content and scope. For example, the
action verb “analyse” used for preventive measures of plant
diseases on the topic of Plant Diseases requires candidates to
examine the measures in detail to interpret how they prevent
diseases. It is observed that some candidates tend to outline
preventive measures instead of analysing them as required.

Regular assessment and evaluation should be part of the
teaching and learning process. That is, teachers should regularly
provide assignments, activities and tests to evaluate the degree
of understanding of students. Remedial classes can also be
introduced when the need arises to promote learning.
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Appendix

The Candidates’ Performance in the Topics and Fields in ACSEE 2023

S/N

Topic/Fields

Question
No.

Percentage of
the candidates
who scored the
average of 35%
or above

Comments

14. leest.ock Reproduction, 9 (P2) 50.18 Average
Breeding and Improvement

15.| Plant Diseases 1,2 (P2) 58.48 Average

16.| Farm Power 5(P1) 58.04 Average

17.| Plant Breeding 5(P2) 56.12 Average

18.] Soil Science 1 (P3) 42.73 Average




P 1-PAPER ]
P2 -PAPER 2
P3-PAPER 3
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